Приложение 4
Dim I, U, k, t, v, pi, t1 As Double

Private Sub Command1_Click()

I = Val(Text1.Text)

U = Val(Text2.Text)

v = Val(Text3.Text)

t1 = Val(Text4.Text)

pi = 3.141592654

Pic1.Scale (0, 6)-(4, -6)

For t = 0 To 4 Step t1

k = (v * t * pi) / 180

Pic1.PSet (k, U * Cos(2 * pi * k)), vbRed

Pic1.PSet (k, I * Cos(2 * pi * k + pi / 2)), vbBlack

Next t

Pic1.Line (0, 0)-(4, 0)

For t = 0 To 5 Step 0.5

Pic1.PSet (t, 0)

Pic1.Print t

Next t

Pic1.Line (0, 6)-(-6, 0)

For t = -6 To 6 Step 0.5

Pic1.PSet (0, t)

Pic1.Print t

Next t

End Sub
Private Sub Command2_Click()

Pic1.Cls

End Sub

Private Sub Command3_Click()

End

End Sub

